Graphing by Making a Table
Name: _________________________________________________
Color: _______________________
Date: ___________________

Directions: Study the example below.  Then complete the attached problems.

To graph an equation we need to know points on the graph. We evaluate each equation for some values of x to get y values which give us coordinates for the points.

Example:   Graph y = 2x – 1 

1. Choose some values for x.  (Here we have chosen them for you, -3 to 2, as shown in the table.)

2. Replace x in the equation with one of the values of x.

y = 2x – 1 when x = - 3

y = 2 (-3) - 1

3. Evaluate the equation for y.
Make sure to follow order of operations!

y = 2 (-3) - 1

y = -6 – 1 

y = -7

4. The x and y now make up coordinates for the graph.

X = -3 and y = -7 so the point is (-3, -7)

5. Plot the point on the graph.

6. Repeat for each x value in the table.

7. Connect the points.  If they form a straight line, use a ruler to connect.  If not, connect them like connect the dots.
	x
	y
	Calculations

	-3
	-7
	2(-3) – 1 = -6 – 1 = -7

	-2
	-5
	2(-2) – 1 = -4 – 1 = -5

	-1
	-3
	2(-1) – 1 = -2 – 1 = -3

	0
	-1
	2(0) – 1 = 0– 1 = -1

	1
	1
	2(1) – 1 = 2 – 1 = 1

	2
	3
	2(2) – 1 = 4 – 1 = 3


(1)  y = 3x
	x
	y
	Calculations

	-3
	
	

	-2
	
	

	-1
	
	

	0
	
	

	1
	
	

	2
	
	



(2) y = -2x
	x
	y
	Calculations

	-3
	
	

	-2
	
	

	-1
	
	

	0
	
	

	1
	
	

	2
	
	

	3
	   
	



(3)    y = 5x + 2
	x
	y
	Calculations

	-2
	
	

	-1
	
	

	0
	
	

	1
	
	

	2
	
	



(4)    y = -2x – 1 
	x
	y
	Calculations

	-2
	
	

	-1
	
	

	0
	
	

	1
	
	

	2
	
	

	3
	   
	



(5)    y = x2
	x
	y
	Calculations

	-2
	
	

	-1
	
	

	0
	
	

	1
	
	

	2
	
	



(6)    y = 0.5x + 2

	x
	y
	Calculations

	-2
	
	

	-1
	
	

	0
	
	

	1
	
	

	2
	
	

	3
	   
	



(7)  y = x2 + 4x
	x
	y
	Calculations

	-3
	
	

	-2
	
	

	-1
	
	

	0
	
	

	1
	
	

	2
	
	



(8) y = 3x + 7

	x
	y
	Calculations

	-3
	
	

	-2
	
	

	-1
	
	

	0
	
	

	1
	
	

	2
	
	



(9)    y = x3
	x
	y
	Calculations

	-2
	
	

	-1
	
	

	0
	
	

	1
	
	

	2
	
	



(10)    y = -x + 7
	x
	y
	Calculations

	-2
	
	

	-1
	
	

	0
	
	

	1
	
	

	2
	
	

	3
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